C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a 7 with the value of 700 or 7 hundreds?
A.1754 B. 6,937 C. 637 D. 8,974

Which choice has a5 with the value of 5,000 or 5 thousands?
A. 9526 B. 9,853 C. 5,826 D. 6,851

Which choice has a 1 with the value of 10,000 or 1 ten thousand?
A. 31,948 B. 78,361 C. 597,841 D. 516,849

Which choice has a7 with the value of 70 or 7 tens?
A. 576 B. 57 C.718 D. 738

Which choice has a 2 with the value of 200 or 2 hundreds?
A. 726 B. 9,328 C. 7,842 D. 259

Which choice has a7 with the value of 7,000 or 7 thousands?
A. 81,927 B. 6,527 C. 59,467 D. 97,346

Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 82,196 B. 461,298 C. 95,783 D. 21,867

Which choice has a 3 with the value of 30 or 3 tens?
A.231 B. 63 C. 352 D. 398

Which choice has a 3 with the value of 300 or 3 hundreds?
A. 7,839 B. 397 C.5/431 D. 2573

Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 19,248 B. 94,256 C. 6,257 D. 32,819

Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 871523 B. 28,673 C. 138,742 D. 362,145

Which choice has a5 with the value of 50 or 5 tens?
A. 856 B. 95 C. 195 D. 579

Answers

10.
11.

12.

C

1-10 | 92|83

75|67 [58[50( 4233|2517 |

M ath ] www.CommonCoreSheets.com 11-12| 8




C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a 7 with the value of 700 or 7 hundreds?
A.1,754 B. 6,937 C. 637 D. 8,974

2) Which choice has a 5 with the value of 5,000 or 5 thousands?
A. 9526 B. 9,853 C. 5,826 D. 6,851

3) Which choice has a 1 with the value of 10,000 or 1 ten thousand?
A. 31,948 B. 78,361 C. 597,841 D. 516,849

4) Which choice has a 7 with the value of 70 or 7 tens?
A. 576 B. 57 C.718 D. 738

5) Which choice has a 2 with the value of 200 or 2 hundreds?
A. 726 B. 9,328 C. 7,842 D. 259

6) Which choice has a 7 with the value of 7,000 or 7 thousands?
A. 81,927 B. 6,527 C. 59,467 D. 97,346

7) 'Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 82,196 B. 461,298 C. 95,783 D. 21,867

8) Which choice has a 3 with the value of 30 or 3 tens?
A.231 B. 63 C. 352 D. 398

9) Which choice has a3 with the value of 300 or 3 hundreds?
A. 7,839 B. 397 C.5/431 D. 2573

10) Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 19,248 B. 94,256 C. 6,257 D. 32,819

11) Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 871,523 B. 28,673 C. 138,742 D. 362,145

12) Which choice has a5 with the value of 50 or 5 tens?
A. 856 B. 95 C. 195 D. 579

Answers
1. A
2. C
3 D
s A
5. D
6. D
7 A
g A
9. B
0. D
1 C
1. A
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